
48” PRO-S SERIES 
PLOW BLADE
Model# 105048
Installation Manual



5

4

1

3 2

SEE 105170 MANUAL FOR DETAILS ON      
INSTALLATION OF PLOW SKID KIT

NOTE:
Wear bar will come pre-installed on all blades.

105048
PARTS LIST

ITEM PART# DESCRIPTION QTY.
1 105053 KFI 48” STRAIGHT BLADE 1
2 105039 KFI 48” WEAR BAR 1
3 CB-8Z-031-18-100 5/16-18 X 1.00 CARRIAGE BOLT GR8 ZINC 7
4 HNFN-5Z-031-18-100 5/16-18 HEX NUT FLANGE NYLOCK GR5 ZINC 7
5 105170 SKID KIT 1

BLADE IS REVERSIBLE

REVISION B



Please register your product with Kappers Fabricating, Inc. (KFI) within fifteen (15) days of purchase to assist us in handling any warranty 
issues that may arise by filling out this Registration card and submitting it with a copy of your sales receipt from one of KFI’s official resellers. 
Failure to complete and return this Registration card does not diminish your warranty rights.
Please refer to the above section for complete terms of this warranty.

WARRANTY IS NON-TRANSFERABLE
Please Print Clearly

Blade P/N_________________________

Name____________________________________________________________________________________________

Street Address_____________________________________________________________________________________

City___________________________________________________State_________ Zip Code_______________

Phone______________________________________Email_________________________________________________

Date of Purchase____________________

Authorized KFI Dealer Name______________________________________________________________________

Fill out and send this section to:
Kappers Fabricating, Inc.
Warranty Registration Department
1015 Industrial Drive, PO Box 32
Spring Valley, MN 55975, U.S.A.

Kappers Fabricating, Inc. (KFI) warrants to the original purchaser that the product is free from defects in materials and workmanship for a period 
of two (2) years from the original date of purchase. We will repair or replace, at our discretion, parts found to be defective due to materials or 

workmanship. This warranty is subject to the following limitations and exclusions:

Commercial Use:  The warranty period for any product used for commercial or rental is limited to ninety (90) days from the date of original 
purchase.

Limitations:  This warranty applies only to products which have been properly assembled, adjusted, and operated in accordance with the 
instructions contained within this manual. This warranty does not apply to any product of Kappers Fabricating, Inc. that has been subject to 

alteration, misuse, abuse, improper assembly or installation, or shipping damage.

Exclusions:  Excluded from this warranty are normal wear, normal adjustments, and normal maintenance.

THIS WARRANTY DOES NOT APPLY TO ANY INCIDENTAL OR CONSEQUENTIAL DAMAGES AND ANY IMPLIED WARRANTIES 
ARE LIMITED TO THE SAME TIME PERIODS STATED HEREIN FOR ALL EXPRESSED WARRANTIES.

THE WARRANTY SET FORTH ABOVE IS THE ONLY WARRANTY. THERE ARE NO OTHER WARRANTIES, EXPRESS OR IMPLIED, 
INCLUDING BUT NOT LIMITED TO IMPLIED WARRANTIES OF MERCHANTABILITY OR FITNESS FOR A PARTICULAR PURPOSE.

Some states do not allow the exclusion of implied warranties or the exclusion or limitation of liability for incidental or consequential damages, or 
limitations on how long an implied warranty lasts, so the above limitation or exclusion may not apply to you. This warranty gives you specific legal 

rights. You may also have other rights that vary from state to state.

In the event you have a claim under this warranty, contact KFI’s Technical Service and KFI will troubleshoot any issue via phone or e-mail. If the 
problem is not corrected by this method, KFI will, at its option, authorize evaluation, repair or replacement of the defective part or component at 
a KFI Service Center. KFI will provide you with a case number for warranty service. Please keep it for future reference. Repairs or replacements 

without prior authorization, or at an unauthorized repair facility, will not be covered by this warranty.

All transportation charges, damage, or loss incurred during transportation of parts submitted for replacement or repair under this warranty shall be 
borne by the purchaser. Should you have any questions concerning this warranty, please contact us toll-free at 1-877-346-2050. The model number, 
serial number (If applicable), date of purchase, and the name of the authorized KFI dealer from whom you purchased the product will be needed 

before any warranty claim can be processed.

For warranty inquiries outside the U.S.A. and Canada, contact your local dealer/distributor.

For countries not covered by a local dealer/distributor, please contact us at www.kfiproducts.com.

Product Registration

2 Year Limited Warranty



Kappers Fabricating, Inc.

721 Sata Dr.
Spring Valley, MN 55975

1-877-346-2050

www.kfiproducts.com

©2014 Copyright Kappers Fabricating, Inc.   All rights reserved



Flex Blade
Instruction Manual

PN: 105950



Page 2

ITEM PART# DESCRIPTION QTY.
1 115017 BLADE - 50" POLY, UNIFLEX 1
2 105528 UNIFLEX BLADE SUPPORT BRACKET 1
3 115037 EDGE - 50" Wear Bar (FLEX Blade) 1
4 115021 GUSSET - RIB P.S., UNIFLEX 1
5 115022 GUSSET - RIB D.S., UNIFLEX 1
6 115029 BRKT - RETAINER, RIB 1
7 105158 PLT - RETAIL BLADE FOOT 2
8 CB-8Z-031-18-125 5/16”-18 x 1.25” CARRIAGE BOLT GR8 ZINC 2
9 CB-8Z-031-18-100 5/16”-18 x 1.00” CARRIAGE BOLT GR8 ZINC 13
10 HNFN-5Z-031-18 5/16”-18 HEX NUT FLANGE NYLOCK GR5 ZINC 11
11 HNFS-5Z-031-18 5/16”-18 HEX NUT FLANGE SERRATED GR5 ZINC 4

50” Flex BLADE
Parts List

1

6

3

2

7

8

9

10

4
5

11



Kappers Fabricating, Inc. (KFI) warrants to the original purchaser that the product is free from defects in materials and workmanship for a period 
of one (1) year from the original date of purchase. We will repair or replace, at our discretion, parts found to be defective due to materials or 

workmanship. This warranty is subject to the following limitations and exclusions:

Commercial Use:  The warranty period for any product used for commercial or rental is limited to ninety (90) days from the date of original 
purchase.

Limitations:  This warranty applies only to products which have been properly assembled, adjusted, and operated in accordance with the 
instructions contained within this manual. This warranty does not apply to any product of Kappers Fabricating, Inc. that has been subject to 

alteration, misuse, abuse, improper assembly or installation, or shipping damage.

Exclusions:  Excluded from this warranty are normal wear, normal adjustments, and normal maintenance.

THIS WARRANTY DOES NOT APPLY TO ANY INCIDENTAL OR CONSEQUENTIAL DAMAGES AND ANY IMPLIED WARRANTIES 
ARE LIMITED TO THE SAME TIME PERIODS STATED HEREIN FOR ALL EXPRESSED WARRANTIES.

THE WARRANTY SET FORTH ABOVE IS THE ONLY WARRANTY. THERE ARE NO OTHER WARRANTIES, EXPRESS OR IMPLIED, 
INCLUDING BUT NOT LIMITED TO IMPLIED WARRANTIES OF MERCHANTABILITY OR FITNESS FOR A PARTICULAR PURPOSE.

Some states do not allow the exclusion of implied warranties or the exclusion or limitation of liability for incidental or consequential damages, or 
limitations on how long an implied warranty lasts, so the above limitation or exclusion may not apply to you. This warranty gives you specific legal 

rights. You may also have other rights that vary from state to state.

In the event you have a claim under this warranty, contact KFI’s Technical Service and KFI will troubleshoot any issue via phone or e-mail. If the 
problem is not corrected by this method, KFI will, at its option, authorize evaluation, repair or replacement of the defective part or component at 
a KFI Service Center. KFI will provide you with a case number for warranty service. Please keep it for future reference. Repairs or replacements 

without prior authorization, or at an unauthorized repair facility, will not be covered by this warranty.

All transportation charges, damage, or loss incurred during transportation of parts submitted for replacement or repair under this warranty shall be 
borne by the purchaser. Should you have any questions concerning this warranty, please contact us toll-free at 1-877-346-2050. The model number, 
serial number (If applicable), date of purchase, and the name of the authorized KFI dealer from whom you purchased the product will be needed 

before any warranty claim can be processed.

For warranty inquiries outside the U.S.A. and Canada, contact your local dealer/distributor.

For countries not covered by a local dealer/distributor, please contact us at www.kfiproducts.com.

Product Registration

1 Year Limited Warranty

Please register your product with Kappers Fabricating, Inc. (KFI) within fifteen (15) days of purchase to assist us in handling any warranty 
issues that may arise by filling out this Registration card and submitting it with a copy of your sales receipt from one of KFI’s official resellers. 
Failure to complete and return this Registration card does not diminish your warranty rights.
Please refer to the above section for complete terms of this warranty.

WARRANTY IS NON-TRANSFERABLE
Please Print Clearly

Blade P/N_________________________

Name____________________________________________________________________________________________

Street Address_____________________________________________________________________________________

City___________________________________________________State_________ Zip Code_______________

Phone______________________________________Email_________________________________________________

Date of Purchase____________________

Authorized KFI Dealer Name______________________________________________________________________

Fill out and send this section to:
Kappers Fabricating, Inc.
Warranty Registration Department
1015 Industrial Drive, PO Box 32
Spring Valley, MN 55975, U.S.A.



Kappers Fabricating, Inc.

721 Sata Dr.
Spring Valley, MN 55975

1-877-346-2050

©2018 Copyright Kappers Fabricating, Inc.   All rights reserved



66” PRO-POLY 
SERIES PLOW 

BLADE
Installation Manual



NOTE:
There are 2 positions which you can install the edge 
trim as shown in Figures 1&2.

Wear bar will come pre-installed on all blades.

The Wear Bar is reversible 

4

6

1

7.1
7.2

7.3.2
8.1

8.2

5

8.3

7.3.1

6

8.4

Figure 1 Figure 2

SEE 105170 MANUAL FOR DETAILS ON      
INSTALLATION OF PLOW SKID KIT



105866
PARTS LIST

ITEM PART# DESCRIPTION
1 105867 KFI 66” STRAIGHT BLADE 1
2 105170 SKID KIT 1
3 HK-103 SKID HARDWARE KIT 1
4 105274 KFI 66” WEAR BAR 1
5 CB-8Z-031-18-100 5/16-18 X 1.00 CARRIAGE BOLT 14
6 HNFN-5Z-031-18 5/16-18 HEX NUT FLANGE NYLOCK 14
7 105575 66” PLOW FLAP KIT 1
7.1 105361 66” EDGE STRIP 1
7.2 105279 66” RUBBER FLAP 1
7.3 HK-102 HARDWARE KIT 1
7.3.1 CB-ZP-0250-20-0_75 1/4”-20 X 3/4” CARRIAGE BOLT 9
7.3.2 HNNL-ZP-0250-20 1/4”-20 HEX NYLOCK NUT 9
8 105810 PLOW MARKER KIT 1
8.1 P800450 PLOW MARKER STRAIGHT 2
8.2 HC-GR88-ZP-M6 M6 X 1.00 X 30MM HEX SCREW 4
8.3 FW-ZP-M6 M6 FLAT WASHER 8
8.4 HNNL-ZP-M6 X 1.00 M6 X 1.00 HEX NUT, NYLOCK 4



Kappers Fabricating, Inc. (KFI) warrants to the original purchaser that the product is free from defects in 
materials and workmanship for a period of two (2) years from the original date of purchase. We will repair or 
replace, at our discretion, parts found to be defective due to materials or workmanship. This warranty is subject 

to the following limitations and exclusions:

Commercial Use:  The warranty period for any product used for commercial or rental is limited to ninety (90) 
days from the date of original purchase.

Limitations:  This warranty applies only to products which have been properly assembled, adjusted, and 
operated in accordance with the instructions contained within this manual. This warranty does not apply to any 
product of Kappers Fabricating, Inc. that has been subject to alteration, misuse, abuse, improper assembly or 

installation, or shipping damage.

Exclusions:  Excluded from this warranty are normal wear, normal adjustments, and normal maintenance.

THIS WARRANTY DOES NOT APPLY TO ANY INCIDENTAL OR CONSEQUENTIAL DAMAGES AND 
ANY IMPLIED WARRANTIES ARE LIMITED TO THE SAME TIME PERIODS STATED HEREIN FOR 

ALL EXPRESSED WARRANTIES.

THE WARRANTY SET FORTH ABOVE IS THE ONLY WARRANTY. THERE ARE NO OTHER 
WARRANTIES, EXPRESS OR IMPLIED, INCLUDING BUT NOT LIMITED TO IMPLIED WARRANTIES 

OF MERCHANTABILITY OR FITNESS FOR A PARTICULAR PURPOSE.

Some states do not allow the exclusion of implied warranties or the exclusion or limitation of liability for 
incidental or consequential damages, or limitations on how long an implied warranty lasts, so the above limitation 
or exclusion may not apply to you. This warranty gives you specific legal rights. You may also have other rights 

that vary from state to state.

In the event you have a claim under this warranty, contact KFI’s Technical Service and KFI will troubleshoot 
any issue via phone or e-mail. If the problem is not corrected by this method, KFI will, at its option, authorize 
evaluation, repair or replacement of the defective part or component at a KFI Service Center. KFI will provide 
you with a case number for warranty service. Please keep it for future reference. Repairs or replacements 

without prior authorization, or at an unauthorized repair facility, will not be covered by this warranty.

All transportation charges, damage, or loss incurred during transportation of parts submitted for replacement 
or repair under this warranty shall be borne by the purchaser. Should you have any questions concerning this 
warranty, please contact us toll-free at 1-877-346-2050. The model number, serial number (If applicable), date 
of purchase, and the name of the authorized KFI dealer from whom you purchased the product will be needed 

before any warranty claim can be processed.

For warranty inquiries outside the U.S.A. and Canada, contact your local dealer/distributor.

For countries not covered by a local dealer/distributor, please contact us at www.kfiproducts.com.

2 Year Limited Warranty



Pl
ea

se
 re

gis
ter

 yo
ur

 pr
od

uc
t w

ith
 K

ap
pe

rs 
Fa

br
ica

tin
g, 

In
c. 

(K
FI

) w
ith

in 
fif

tee
n (

15
) d

ay
s o

f p
ur

ch
as

e t
o a

ssi
st 

us
 in

 ha
nd

lin
g a

ny
 w

arr
an

ty 
iss

ue
s t

ha
t m

ay
 ar

ise
 by

 fi
lli

ng
 ou

t th
is 

Re
gis

tra
tio

n c
ard

 an
d s

ub
mi

tti
ng

 it 
wi

th 
a c

op
y o

f y
ou

r s
ale

s r
ec

eip
t f

ro
m 

on
e o

f K
FI

’s 
of

fic
ial

 re
se

lle
rs.

 
Fa

ilu
re 

to 
co

mp
let

e a
nd

 re
tur

n t
his

 R
eg

ist
rat

ion
 ca

rd
 do

es
 no

t d
im

ini
sh

 yo
ur

 w
arr

an
ty 

rig
hts

.
Pl

ea
se

 re
fer

 to
 th

e a
bo

ve
 se

cti
on

 fo
r c

om
ple

te 
ter

ms
 of

 th
is 

wa
rra

nty
.

W
AR

RA
NT

Y 
IS

 N
ON

-T
RA

NS
FE

RA
BL

E

Pl
ea

se
 Pr

int
 C

lea
rly

M
od

el 
#_

__
__

__
__

__
__

__
__

__
__

__
__

Na
me

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

St
ree

t A
dd

res
s_

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

Ci
ty_

__
__

__
__

__
__

__
__

__
__

__
__

_ S
tat

e_
__

__
__

__
__

__
__

__
__

__
__

__
__

 Z
ip 

Co
de

__
__

__
__

__
__

__
__

__
__

__
__

__
__

Ph
on

e_
__

__
__

__
__

__
__

__
__

 Fa
x_

__
__

__
__

__
__

__
__

__
_ E

ma
il_

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
_

Da
te 

of
 Pu

rch
as

e_
__

__
__

__
__

__
__

__
__

__
 A

uth
or

ize
d K

FI
 D

ea
ler

 N
am

e_
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
_

Fi
ll o

ut 
an

d s
en

d t
his

 se
cti

on
 to

:
KF

I P
ro

du
cts

 
W

arr
an

ty 
Re

gis
tra

tio
n D

ep
art

me
nt

72
1 S

ata
  D

riv
e, 

PO
 B

ox
 32

Sp
rin

g V
all

ey
, M

N 
55

97
5, 

U.
S.A

.

Pr
od

uc
t R

eg
is

tr
at

io
n





Notes:



Kappers Fabricating, Inc.

721 Sata Dr.
Spring Valley, MN 55975

1-877-346-2050

©2017 Copyright Kappers Fabricating, Inc.   All rights reserved



60” PRO-S SERIES 
PLOW BLADE
Model# 105060
Installation Manual



5

4

1

3 2

SEE 105170 MANUAL FOR DETAILS ON      
INSTALLATION OF PLOW SKID KIT

NOTE:
Wear bar will come pre-installed on all blades.

105060
PARTS LIST

ITEM PART# DESCRIPTION QTY.
1 105063 KFI 60” STRAIGHT BLADE 1
2 105064 KFI 60” WEAR BAR 1
3 CB-8Z-031-18-100 5/16"-18 X 1.00" CARRIAGE BOLT GR8 ZINC 7
4 HNFN-5Z-031-18-100 5/16"-18 HEX NUT FLANGE NYLOCK GR5 ZINC 7
5 105170 SKID KIT 1

BLADE IS REVERSIBLE

REVISION B



Kappers Fabricating, Inc. (KFI) warrants to the original purchaser that the product is free from defects in materials and workmanship for a period 
of two (2) years from the original date of purchase. We will repair or replace, at our discretion, parts found to be defective due to materials or 

workmanship. This warranty is subject to the following limitations and exclusions:

Commercial Use:  The warranty period for any product used for commercial or rental is limited to ninety (90) days from the date of original 
purchase.

Limitations:  This warranty applies only to products which have been properly assembled, adjusted, and operated in accordance with the 
instructions contained within this manual. This warranty does not apply to any product of Kappers Fabricating, Inc. that has been subject to 

alteration, misuse, abuse, improper assembly or installation, or shipping damage.

Exclusions:  Excluded from this warranty are normal wear, normal adjustments, and normal maintenance.

THIS WARRANTY DOES NOT APPLY TO ANY INCIDENTAL OR CONSEQUENTIAL DAMAGES AND ANY IMPLIED WARRANTIES 
ARE LIMITED TO THE SAME TIME PERIODS STATED HEREIN FOR ALL EXPRESSED WARRANTIES.

THE WARRANTY SET FORTH ABOVE IS THE ONLY WARRANTY. THERE ARE NO OTHER WARRANTIES, EXPRESS OR IMPLIED, 
INCLUDING BUT NOT LIMITED TO IMPLIED WARRANTIES OF MERCHANTABILITY OR FITNESS FOR A PARTICULAR PURPOSE.

Some states do not allow the exclusion of implied warranties or the exclusion or limitation of liability for incidental or consequential damages, or 
limitations on how long an implied warranty lasts, so the above limitation or exclusion may not apply to you. This warranty gives you specific legal 

rights. You may also have other rights that vary from state to state.

In the event you have a claim under this warranty, contact KFI’s Technical Service and KFI will troubleshoot any issue via phone or e-mail. If the 
problem is not corrected by this method, KFI will, at its option, authorize evaluation, repair or replacement of the defective part or component at 
a KFI Service Center. KFI will provide you with a case number for warranty service. Please keep it for future reference. Repairs or replacements 

without prior authorization, or at an unauthorized repair facility, will not be covered by this warranty.

All transportation charges, damage, or loss incurred during transportation of parts submitted for replacement or repair under this warranty shall be 
borne by the purchaser. Should you have any questions concerning this warranty, please contact us toll-free at 1-877-346-2050. The model number, 
serial number (If applicable), date of purchase, and the name of the authorized KFI dealer from whom you purchased the product will be needed 

before any warranty claim can be processed.

For warranty inquiries outside the U.S.A. and Canada, contact your local dealer/distributor.

For countries not covered by a local dealer/distributor, please contact us at www.kfiproducts.com.

Product Registration

2 Year Limited Warranty

Please register your product with Kappers Fabricating, Inc. (KFI) within fifteen (15) days of purchase to assist us in handling any warranty 
issues that may arise by filling out this Registration card and submitting it with a copy of your sales receipt from one of KFI’s official resellers. 
Failure to complete and return this Registration card does not diminish your warranty rights.
Please refer to the above section for complete terms of this warranty.

WARRANTY IS NON-TRANSFERABLE
Please Print Clearly

Blade P/N_________________________

Name____________________________________________________________________________________________

Street Address_____________________________________________________________________________________

City___________________________________________________State_________ Zip Code_______________

Phone______________________________________Email_________________________________________________

Date of Purchase____________________

Authorized KFI Dealer Name______________________________________________________________________

Fill out and send this section to:
Kappers Fabricating, Inc.
Warranty Registration Department
1015 Industrial Drive, PO Box 32
Spring Valley, MN 55975, U.S.A.



©2014 Copyright Kappers Fabricating, Inc.   All rights reserved

Kappers Fabricating, Inc.

721 Sata Dr.
Spring Valley, MN 55975

1-877-346-2050

www.kfiproducts.com



54” PRO-S SERIES 
PLOW BLADE
Model# 105054
Installation Manual



5

4

1

105054
PARTS LIST

BLADE IS REVERSIBLE

SEE 105170 MANUAL FOR DETAILS ON      
INSTALLATION OF PLOW SKID KIT

NOTE:
Wear bar will come pre-installed on all blades.

ITEM PART# DESCRIPTION QTY.
1 105001 KFI 54" STRAIGHT BLADE 1
2 105010 KFI 54" WEAR BAR 1
3 CB-8Z-031-18-100 5/16"-18 X 1.00" CARRIAGE BOLT GR8 ZINC 7
4 HNFN-5Z-031-18-100 5/16"-18 HEX NUT FLANGE NYLOCK GR5 ZINC 7
5 105170 SKID KIT 1

3 2

REVISION B



Kappers Fabricating, Inc. (KFI) warrants to the original purchaser that the product is free from defects in materials and workmanship for a period 
of two (2) years from the original date of purchase. We will repair or replace, at our discretion, parts found to be defective due to materials or 

workmanship. This warranty is subject to the following limitations and exclusions:

Commercial Use:  The warranty period for any product used for commercial or rental is limited to ninety (90) days from the date of original 
purchase.

Limitations:  This warranty applies only to products which have been properly assembled, adjusted, and operated in accordance with the 
instructions contained within this manual. This warranty does not apply to any product of Kappers Fabricating, Inc. that has been subject to 

alteration, misuse, abuse, improper assembly or installation, or shipping damage.

Exclusions:  Excluded from this warranty are normal wear, normal adjustments, and normal maintenance.

THIS WARRANTY DOES NOT APPLY TO ANY INCIDENTAL OR CONSEQUENTIAL DAMAGES AND ANY IMPLIED WARRANTIES 
ARE LIMITED TO THE SAME TIME PERIODS STATED HEREIN FOR ALL EXPRESSED WARRANTIES.

THE WARRANTY SET FORTH ABOVE IS THE ONLY WARRANTY. THERE ARE NO OTHER WARRANTIES, EXPRESS OR IMPLIED, 
INCLUDING BUT NOT LIMITED TO IMPLIED WARRANTIES OF MERCHANTABILITY OR FITNESS FOR A PARTICULAR PURPOSE.

Some states do not allow the exclusion of implied warranties or the exclusion or limitation of liability for incidental or consequential damages, or 
limitations on how long an implied warranty lasts, so the above limitation or exclusion may not apply to you. This warranty gives you specific legal 

rights. You may also have other rights that vary from state to state.

In the event you have a claim under this warranty, contact KFI’s Technical Service and KFI will troubleshoot any issue via phone or e-mail. If the 
problem is not corrected by this method, KFI will, at its option, authorize evaluation, repair or replacement of the defective part or component at 
a KFI Service Center. KFI will provide you with a case number for warranty service. Please keep it for future reference. Repairs or replacements 

without prior authorization, or at an unauthorized repair facility, will not be covered by this warranty.

All transportation charges, damage, or loss incurred during transportation of parts submitted for replacement or repair under this warranty shall be 
borne by the purchaser. Should you have any questions concerning this warranty, please contact us toll-free at 1-877-346-2050. The model number, 
serial number (If applicable), date of purchase, and the name of the authorized KFI dealer from whom you purchased the product will be needed 

before any warranty claim can be processed.

For warranty inquiries outside the U.S.A. and Canada, contact your local dealer/distributor.

For countries not covered by a local dealer/distributor, please contact us at www.kfiproducts.com.

Product Registration

2 Year Limited Warranty

Please register your product with Kappers Fabricating, Inc. (KFI) within fifteen (15) days of purchase to assist us in handling any warranty 
issues that may arise by filling out this Registration card and submitting it with a copy of your sales receipt from one of KFI’s official resellers. 
Failure to complete and return this Registration card does not diminish your warranty rights.
Please refer to the above section for complete terms of this warranty.

WARRANTY IS NON-TRANSFERABLE
Please Print Clearly

Blade P/N_________________________

Name____________________________________________________________________________________________

Street Address_____________________________________________________________________________________

City___________________________________________________State_________ Zip Code_______________

Phone______________________________________Email_________________________________________________

Date of Purchase____________________

Authorized KFI Dealer Name______________________________________________________________________

Fill out and send this section to:
Kappers Fabricating, Inc.
Warranty Registration Department
1015 Industrial Drive, PO Box 32
Spring Valley, MN 55975, U.S.A.



©2014 Copyright Kappers Fabricating, Inc.   All rights reserved

Kappers Fabricating, Inc.

721 Sata Dr.
Spring Valley, MN 55975

1-877-346-2050

www.kfiproducts.com



60” PRO-POLY 
SERIES PLOW 

BLADE
Installation Manual



NOTE:
There are 2 positions which you can install the edge 
trim as shown in Figures 1&2.

Wear bar will come pre-installed on all blades.

The Wear Bar is reversible 

1

7.1
7.2

7.3.2
8.1

8.2

5

8.3

7.3.1

6

8.4

Figure 1 Figure 2

4

6

SEE 105170 MANUAL FOR DETAILS ON      
INSTALLATION OF PLOW SKID KIT



105860
PARTS LIST

ITEM PART# DESCRIPTION
1 105861 KFI 60” STRAIGHT BLADE 1
2 105170 SKID KIT 1
3 HK-103 SKID HARDWARE KIT 1
4 105064 KFI 60” WEAR BAR 1
5 CB-8Z-031-18-100 5/16-18 X 1.00 CARRIAGE BOLT 12
6 HNFN-5Z-031-18 5/16-18 HEX NUT FLANGE NYLOCK 12
7 105144 60” PLOW FLAP KIT 1
7.1 105012 60” EDGE STRIP 1
7.2 105147 60” RUBBER FLAP 1
7.3 HK-102 HARDWARE KIT 1
7.3.1 CB-ZP-0250-20-0_75 1/4”-20 X 3/4” CARRIAGE BOLT 9
7.3.2 HNNL-ZP-0250-20 1/4”-20 HEX NYLOCK NUT 9
8 105810 PLOW MARKER KIT 1
8.1 P800450 PLOW MARKER STRAIGHT 2
8.2 HC-GR88-ZP-M6 M6 X 1.00 X 30MM HEX SCREW 4
8.3 FW-ZP-M6 M6 FLAT WASHER 8
8.4 HNNL-ZP-M6 X 1.00 M6 X 1.00 HEX NUT, NYLOCK 4



Kappers Fabricating, Inc. (KFI) warrants to the original purchaser that the product is free from defects in 
materials and workmanship for a period of two (2) years from the original date of purchase. We will repair or 
replace, at our discretion, parts found to be defective due to materials or workmanship. This warranty is subject 

to the following limitations and exclusions:

Commercial Use:  The warranty period for any product used for commercial or rental is limited to ninety (90) 
days from the date of original purchase.

Limitations:  This warranty applies only to products which have been properly assembled, adjusted, and 
operated in accordance with the instructions contained within this manual. This warranty does not apply to any 
product of Kappers Fabricating, Inc. that has been subject to alteration, misuse, abuse, improper assembly or 

installation, or shipping damage.

Exclusions:  Excluded from this warranty are normal wear, normal adjustments, and normal maintenance.

THIS WARRANTY DOES NOT APPLY TO ANY INCIDENTAL OR CONSEQUENTIAL DAMAGES AND 
ANY IMPLIED WARRANTIES ARE LIMITED TO THE SAME TIME PERIODS STATED HEREIN FOR 

ALL EXPRESSED WARRANTIES.

THE WARRANTY SET FORTH ABOVE IS THE ONLY WARRANTY. THERE ARE NO OTHER 
WARRANTIES, EXPRESS OR IMPLIED, INCLUDING BUT NOT LIMITED TO IMPLIED WARRANTIES 

OF MERCHANTABILITY OR FITNESS FOR A PARTICULAR PURPOSE.

Some states do not allow the exclusion of implied warranties or the exclusion or limitation of liability for 
incidental or consequential damages, or limitations on how long an implied warranty lasts, so the above limitation 
or exclusion may not apply to you. This warranty gives you specific legal rights. You may also have other rights 

that vary from state to state.

In the event you have a claim under this warranty, contact KFI’s Technical Service and KFI will troubleshoot 
any issue via phone or e-mail. If the problem is not corrected by this method, KFI will, at its option, authorize 
evaluation, repair or replacement of the defective part or component at a KFI Service Center. KFI will provide 
you with a case number for warranty service. Please keep it for future reference. Repairs or replacements 

without prior authorization, or at an unauthorized repair facility, will not be covered by this warranty.

All transportation charges, damage, or loss incurred during transportation of parts submitted for replacement 
or repair under this warranty shall be borne by the purchaser. Should you have any questions concerning this 
warranty, please contact us toll-free at 1-877-346-2050. The model number, serial number (If applicable), date 
of purchase, and the name of the authorized KFI dealer from whom you purchased the product will be needed 

before any warranty claim can be processed.

For warranty inquiries outside the U.S.A. and Canada, contact your local dealer/distributor.

For countries not covered by a local dealer/distributor, please contact us at www.kfiproducts.com.

2 Year Limited Warranty



Pl
ea

se
 re

gis
ter

 yo
ur

 pr
od

uc
t w

ith
 K

ap
pe

rs 
Fa

br
ica

tin
g, 

In
c. 

(K
FI

) w
ith

in 
fif

tee
n (

15
) d

ay
s o

f p
ur

ch
as

e t
o a

ssi
st 

us
 in

 ha
nd

lin
g a

ny
 w

arr
an

ty 
iss

ue
s t

ha
t m

ay
 ar

ise
 by

 fi
lli

ng
 ou

t th
is 

Re
gis

tra
tio

n c
ard

 an
d s

ub
mi

tti
ng

 it 
wi

th 
a c

op
y o

f y
ou

r s
ale

s r
ec

eip
t f

ro
m 

on
e o

f K
FI

’s 
of

fic
ial

 re
se

lle
rs.

 
Fa

ilu
re 

to 
co

mp
let

e a
nd

 re
tur

n t
his

 R
eg

ist
rat

ion
 ca

rd
 do

es
 no

t d
im

ini
sh

 yo
ur

 w
arr

an
ty 

rig
hts

.
Pl

ea
se

 re
fer

 to
 th

e a
bo

ve
 se

cti
on

 fo
r c

om
ple

te 
ter

ms
 of

 th
is 

wa
rra

nty
.

W
AR

RA
NT

Y 
IS

 N
ON

-T
RA

NS
FE

RA
BL

E

Pl
ea

se
 Pr

int
 C

lea
rly

M
od

el 
#_

__
10

58
60

__
__

__
__

__
__

__
__

__
__

__
Na

me
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
St

ree
t A

dd
res

s_
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
Ci

ty_
__

__
__

__
__

__
__

__
__

__
__

__
_ S

tat
e_

__
__

__
__

__
__

__
__

__
__

__
__

__
 Z

ip 
Co

de
__

__
__

__
__

__
__

__
__

__
__

__
__

__
Ph

on
e_

__
__

__
__

__
__

__
__

__
 Fa

x_
__

__
__

__
__

__
__

__
__

_ E
ma

il_
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

_
Da

te 
of

 Pu
rch

as
e_

__
__

__
__

__
__

__
__

__
__

 A
uth

or
ize

d K
FI

 D
ea

ler
 N

am
e_

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

_

Fi
ll o

ut 
an

d s
en

d t
his

 se
cti

on
 to

:
KF

I P
ro

du
cts

 
W

arr
an

ty 
Re

gis
tra

tio
n D

ep
art

me
nt

72
1 S

ata
  D

riv
e, 

PO
 B

ox
 32

Sp
rin

g V
all

ey
, M

N 
55

97
5, 

U.
S.A

.

Pr
od

uc
t R

eg
is

tr
at

io
n





Notes:



Kappers Fabricating, Inc.

721 Sata Dr.
Spring Valley, MN 55975

1-877-346-2050

©2017 Copyright Kappers Fabricating, Inc.   All rights reserved



72” PRO-POLY 
SERIES PLOW 

BLADE
Installation Manual



NOTE:
There are 2 positions which you can install the edge 
trim as shown in Figures 1&2.

Wear bar will come pre-installed on all blades.

The Wear Bar is reversible 

4

6

1

7.1
7.2

7.3.2
8.1

8.2

5

8.3

7.3.1

6

8.4

Figure 1 Figure 2

SEE 105170 MANUAL FOR DETAILS ON      
INSTALLATION OF PLOW SKID KIT



105872
PARTS LIST

ITEM PART# DESCRIPTION
1 105873 KFI 72” STRAIGHT BLADE 1
2 105170 SKID KIT 1
3 HK-103 SKID HARDWARE KIT 1
4 105184 KFI 72” WEAR BAR 1
5 CB-8Z-031-18-100 5/16-18 X 1.00 CARRIAGE BOLT 14
6 HNFN-5Z-031-18 5/16-18 HEX NUT FLANGE NYLOCK 14
7 105290 72” PLOW FLAP KIT 1
7.1 105292 72” EDGE STRIP 1
7.2 105291 72” RUBBER FLAP 1
7.3 HK-102 HARDWARE KIT 1
7.3.1 CB-ZP-0250-20-0_75 1/4”-20 X 3/4” CARRIAGE BOLT 9
7.3.2 HNNL-ZP-0250-20 1/4”-20 HEX NYLOCK NUT 9
8 105810 PLOW MARKER KIT 1
8.1 P800450 PLOW MARKER STRAIGHT 2
8.2 HC-GR88-ZP-M6 M6 X 1.00 X 30MM HEX SCREW 4
8.3 FW-ZP-M6 M6 FLAT WASHER 8
8.4 HNNL-ZP-M6 X 1.00 M6 X 1.00 HEX NUT, NYLOCK 4

8.2



Kappers Fabricating, Inc. (KFI) warrants to the original purchaser that the product is free from defects in 
materials and workmanship for a period of two (2) years from the original date of purchase. We will repair or 
replace, at our discretion, parts found to be defective due to materials or workmanship. This warranty is subject 

to the following limitations and exclusions:

Commercial Use:  The warranty period for any product used for commercial or rental is limited to ninety (90) 
days from the date of original purchase.

Limitations:  This warranty applies only to products which have been properly assembled, adjusted, and 
operated in accordance with the instructions contained within this manual. This warranty does not apply to any 
product of Kappers Fabricating, Inc. that has been subject to alteration, misuse, abuse, improper assembly or 

installation, or shipping damage.

Exclusions:  Excluded from this warranty are normal wear, normal adjustments, and normal maintenance.

THIS WARRANTY DOES NOT APPLY TO ANY INCIDENTAL OR CONSEQUENTIAL DAMAGES AND 
ANY IMPLIED WARRANTIES ARE LIMITED TO THE SAME TIME PERIODS STATED HEREIN FOR 

ALL EXPRESSED WARRANTIES.

THE WARRANTY SET FORTH ABOVE IS THE ONLY WARRANTY. THERE ARE NO OTHER 
WARRANTIES, EXPRESS OR IMPLIED, INCLUDING BUT NOT LIMITED TO IMPLIED WARRANTIES 

OF MERCHANTABILITY OR FITNESS FOR A PARTICULAR PURPOSE.

Some states do not allow the exclusion of implied warranties or the exclusion or limitation of liability for 
incidental or consequential damages, or limitations on how long an implied warranty lasts, so the above limitation 
or exclusion may not apply to you. This warranty gives you specific legal rights. You may also have other rights 

that vary from state to state.

In the event you have a claim under this warranty, contact KFI’s Technical Service and KFI will troubleshoot 
any issue via phone or e-mail. If the problem is not corrected by this method, KFI will, at its option, authorize 
evaluation, repair or replacement of the defective part or component at a KFI Service Center. KFI will provide 
you with a case number for warranty service. Please keep it for future reference. Repairs or replacements 

without prior authorization, or at an unauthorized repair facility, will not be covered by this warranty.

All transportation charges, damage, or loss incurred during transportation of parts submitted for replacement 
or repair under this warranty shall be borne by the purchaser. Should you have any questions concerning this 
warranty, please contact us toll-free at 1-877-346-2050. The model number, serial number (If applicable), date 
of purchase, and the name of the authorized KFI dealer from whom you purchased the product will be needed 

before any warranty claim can be processed.

For warranty inquiries outside the U.S.A. and Canada, contact your local dealer/distributor.

For countries not covered by a local dealer/distributor, please contact us at www.kfiproducts.com.

2 Year Limited Warranty



Pl
ea

se
 re

gis
ter

 yo
ur

 pr
od

uc
t w

ith
 K

ap
pe

rs 
Fa

br
ica

tin
g, 

In
c. 

(K
FI

) w
ith

in 
fif

tee
n (

15
) d

ay
s o

f p
ur

ch
as

e t
o a

ssi
st 

us
 in

 ha
nd

lin
g a

ny
 w

arr
an

ty 
iss

ue
s t

ha
t m

ay
 ar

ise
 by

 fi
lli

ng
 ou

t th
is 

Re
gis

tra
tio

n c
ard

 an
d s

ub
mi

tti
ng

 it 
wi

th 
a c

op
y o

f y
ou

r s
ale

s r
ec

eip
t f

ro
m 

on
e o

f K
FI

’s 
of

fic
ial

 re
se

lle
rs.

 
Fa

ilu
re 

to 
co

mp
let

e a
nd

 re
tur

n t
his

 R
eg

ist
rat

ion
 ca

rd
 do

es
 no

t d
im

ini
sh

 yo
ur

 w
arr

an
ty 

rig
hts

.
Pl

ea
se

 re
fer

 to
 th

e a
bo

ve
 se

cti
on

 fo
r c

om
ple

te 
ter

ms
 of

 th
is 

wa
rra

nty
.

W
AR

RA
NT

Y 
IS

 N
ON

-T
RA

NS
FE

RA
BL

E

Pl
ea

se
 Pr

int
 C

lea
rly

M
od

el 
#_

__
__

__
__

__
__

__
__

__
__

__
__

Na
me

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

St
ree

t A
dd

res
s_

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

Ci
ty_

__
__

__
__

__
__

__
__

__
__

__
__

_ S
tat

e_
__

__
__

__
__

__
__

__
__

__
__

__
__

 Z
ip 

Co
de

__
__

__
__

__
__

__
__

__
__

__
__

__
__

Ph
on

e_
__

__
__

__
__

__
__

__
__

 Fa
x_

__
__

__
__

__
__

__
__

__
_ E

ma
il_

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
_

Da
te 

of
 Pu

rch
as

e_
__

__
__

__
__

__
__

__
__

__
 A

uth
or

ize
d K

FI
 D

ea
ler

 N
am

e_
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
__

__
_

Fi
ll o

ut 
an

d s
en

d t
his

 se
cti

on
 to

:
KF

I P
ro

du
cts

 
W

arr
an

ty 
Re

gis
tra

tio
n D

ep
art

me
nt

72
1 S

ata
  D

riv
e, 

PO
 B

ox
 32

Sp
rin

g V
all

ey
, M

N 
55

97
5, 

U.
S.A

.

Pr
od

uc
t R

eg
is

tr
at

io
n





Notes:



Kappers Fabricating, Inc.

721 Sata Dr.
Spring Valley, MN 55975

1-877-346-2050

©2017 Copyright Kappers Fabricating, Inc.   All rights reserved



72” PRO-S SERIES 
PLOW BLADE
Model# 105072
Installation Manual



1

7.1

7.2

5
6

8

4

3 2

BLADE IS REVERSIBLE

105072 PARTS LIST

Figure 1 Figure 2

ITEM PART# DESCRIPTION QTY.
1 105243 KFI 72” STRAIGHT BLADE 1
2 105184 KFI 72” WEAR BAR 1
3 CB-ZP-0313-10-1_00 5/16-18 X 1.00 CARRIAGE BOLT, STEEL, ZINC 7
4 HNFL-ZP-0313-18-1_00 5/16-18 HEX FLANGE NUT, NYLOCK, ZINC 7
5 105292 72” EDGE STRIP 1
6 105291 72” RUBBER FLAP 1
7 HK-102 HARDWARE KIT 1

7.1 CB-ZP-0250-20-0_75 1/4”- 20 X 3/4” CARRIAGE BOLT, STEEL, ZINC 9
7.2 HNNL-ZP-0250-20 1/4”- 20 HEX NYLOCK NUT, ZINC PLATED 9
8 105170 SKID KIT 1

SEE 105170 MANUAL FOR DETAILS ON      
INSTALLATION OF PLOW SKID KIT

NOTE:
There are 2 positions which you can install the edge trim 
as shown in Figures 1&2.

Wear bar will come pre-installed on all blades.

REVISION B



Kappers Fabricating, Inc. (KFI) warrants to the original purchaser that the product is free from defects in materials and workmanship for a period 
of two (2) years from the original date of purchase. We will repair or replace, at our discretion, parts found to be defective due to materials or 

workmanship. This warranty is subject to the following limitations and exclusions:

Commercial Use:  The warranty period for any product used for commercial or rental is limited to ninety (90) days from the date of original 
purchase.

Limitations:  This warranty applies only to products which have been properly assembled, adjusted, and operated in accordance with the 
instructions contained within this manual. This warranty does not apply to any product of Kappers Fabricating, Inc. that has been subject to 

alteration, misuse, abuse, improper assembly or installation, or shipping damage.

Exclusions:  Excluded from this warranty are normal wear, normal adjustments, and normal maintenance.

THIS WARRANTY DOES NOT APPLY TO ANY INCIDENTAL OR CONSEQUENTIAL DAMAGES AND ANY IMPLIED WARRANTIES 
ARE LIMITED TO THE SAME TIME PERIODS STATED HEREIN FOR ALL EXPRESSED WARRANTIES.

THE WARRANTY SET FORTH ABOVE IS THE ONLY WARRANTY. THERE ARE NO OTHER WARRANTIES, EXPRESS OR IMPLIED, 
INCLUDING BUT NOT LIMITED TO IMPLIED WARRANTIES OF MERCHANTABILITY OR FITNESS FOR A PARTICULAR PURPOSE.

Some states do not allow the exclusion of implied warranties or the exclusion or limitation of liability for incidental or consequential damages, or 
limitations on how long an implied warranty lasts, so the above limitation or exclusion may not apply to you. This warranty gives you specific legal 

rights. You may also have other rights that vary from state to state.

In the event you have a claim under this warranty, contact KFI’s Technical Service and KFI will troubleshoot any issue via phone or e-mail. If the 
problem is not corrected by this method, KFI will, at its option, authorize evaluation, repair or replacement of the defective part or component at 
a KFI Service Center. KFI will provide you with a case number for warranty service. Please keep it for future reference. Repairs or replacements 

without prior authorization, or at an unauthorized repair facility, will not be covered by this warranty.

All transportation charges, damage, or loss incurred during transportation of parts submitted for replacement or repair under this warranty shall be 
borne by the purchaser. Should you have any questions concerning this warranty, please contact us toll-free at 1-877-346-2050. The model number, 
serial number (If applicable), date of purchase, and the name of the authorized KFI dealer from whom you purchased the product will be needed 

before any warranty claim can be processed.

For warranty inquiries outside the U.S.A. and Canada, contact your local dealer/distributor.

For countries not covered by a local dealer/distributor, please contact us at www.kfiproducts.com.

Product Registration

2 Year Limited Warranty

Please register your product with Kappers Fabricating, Inc. (KFI) within fifteen (15) days of purchase to assist us in handling any warranty 
issues that may arise by filling out this Registration card and submitting it with a copy of your sales receipt from one of KFI’s official resellers. 
Failure to complete and return this Registration card does not diminish your warranty rights.
Please refer to the above section for complete terms of this warranty.

WARRANTY IS NON-TRANSFERABLE
Please Print Clearly

Blade P/N_________________________

Name____________________________________________________________________________________________

Street Address_____________________________________________________________________________________

City___________________________________________________State_________ Zip Code_______________

Phone______________________________________Email_________________________________________________

Date of Purchase____________________

Authorized KFI Dealer Name______________________________________________________________________

Fill out and send this section to:
Kappers Fabricating, Inc.
Warranty Registration Department
1015 Industrial Drive, PO Box 32
Spring Valley, MN 55975, U.S.A.



©2014 Copyright Kappers Fabricating, Inc.   All rights reserved

Kappers Fabricating, Inc.

721 Sata Dr.
Spring Valley, MN 55975

1-877-346-2050

www.kfiproducts.com



66” PRO-S SERIES 
PLOW BLADE
Model# 105066
Installation Manual



1

7.1

7.2

5
6

8

4

105066 PARTS LIST

Figure 1 Figure 2

ITEM PART# DESCRIPTION QTY.
1 105363 KFI 66” STRAIGHT BLADE 1
2 105274 KFI 66” WEAR BAR 1
3 CB-8Z-031-10-100 5/16"-18 X 1.00" CARRIAGE BOLT GR8 ZINC 9
4 HNFN-5Z-031-18-100 5/16"-18 HEX NUT FLANGE NYLOCK GR5 ZINC 9
5 105361 66” EDGE STRIP 1
6 105279 66” RUBBER FLAP 1
7 HK-102 HARDWARE KIT 1

7.1 CB-ZP-0250-20-0_75 1/4”- 20 X 3/4” CARRIAGE BOLT, STEEL, ZINC 9
7.2 HNNL-ZP-0250-20 1/4”- 20 HEX NYLOCK NUT, ZINC PLATED 9
8 105170 SKID KIT 1

SEE 105170 MANUAL FOR DETAILS ON      
INSTALLATION OF PLOW SKID KIT

NOTE:
There are 2 positions which you can install the edge trim 
as shown in Figures 1&2.

Wear bar will come pre-installed on all blades.

3 2

BLADE IS REVERSIBLE

REVISION B



Kappers Fabricating, Inc. (KFI) warrants to the original purchaser that the product is free from defects in materials and workmanship for a period 
of two (2) years from the original date of purchase. We will repair or replace, at our discretion, parts found to be defective due to materials or 

workmanship. This warranty is subject to the following limitations and exclusions:

Commercial Use:  The warranty period for any product used for commercial or rental is limited to ninety (90) days from the date of original 
purchase.

Limitations:  This warranty applies only to products which have been properly assembled, adjusted, and operated in accordance with the 
instructions contained within this manual. This warranty does not apply to any product of Kappers Fabricating, Inc. that has been subject to 

alteration, misuse, abuse, improper assembly or installation, or shipping damage.

Exclusions:  Excluded from this warranty are normal wear, normal adjustments, and normal maintenance.

THIS WARRANTY DOES NOT APPLY TO ANY INCIDENTAL OR CONSEQUENTIAL DAMAGES AND ANY IMPLIED WARRANTIES 
ARE LIMITED TO THE SAME TIME PERIODS STATED HEREIN FOR ALL EXPRESSED WARRANTIES.

THE WARRANTY SET FORTH ABOVE IS THE ONLY WARRANTY. THERE ARE NO OTHER WARRANTIES, EXPRESS OR IMPLIED, 
INCLUDING BUT NOT LIMITED TO IMPLIED WARRANTIES OF MERCHANTABILITY OR FITNESS FOR A PARTICULAR PURPOSE.

Some states do not allow the exclusion of implied warranties or the exclusion or limitation of liability for incidental or consequential damages, or 
limitations on how long an implied warranty lasts, so the above limitation or exclusion may not apply to you. This warranty gives you specific legal 

rights. You may also have other rights that vary from state to state.

In the event you have a claim under this warranty, contact KFI’s Technical Service and KFI will troubleshoot any issue via phone or e-mail. If the 
problem is not corrected by this method, KFI will, at its option, authorize evaluation, repair or replacement of the defective part or component at 
a KFI Service Center. KFI will provide you with a case number for warranty service. Please keep it for future reference. Repairs or replacements 

without prior authorization, or at an unauthorized repair facility, will not be covered by this warranty.

All transportation charges, damage, or loss incurred during transportation of parts submitted for replacement or repair under this warranty shall be 
borne by the purchaser. Should you have any questions concerning this warranty, please contact us toll-free at 1-877-346-2050. The model number, 
serial number (If applicable), date of purchase, and the name of the authorized KFI dealer from whom you purchased the product will be needed 

before any warranty claim can be processed.

For warranty inquiries outside the U.S.A. and Canada, contact your local dealer/distributor.

For countries not covered by a local dealer/distributor, please contact us at www.kfiproducts.com.

Product Registration

2 Year Limited Warranty

Please register your product with Kappers Fabricating, Inc. (KFI) within fifteen (15) days of purchase to assist us in handling any warranty 
issues that may arise by filling out this Registration card and submitting it with a copy of your sales receipt from one of KFI’s official resellers. 
Failure to complete and return this Registration card does not diminish your warranty rights.
Please refer to the above section for complete terms of this warranty.

WARRANTY IS NON-TRANSFERABLE
Please Print Clearly

Blade P/N_________________________

Name____________________________________________________________________________________________

Street Address_____________________________________________________________________________________

City___________________________________________________State_________ Zip Code_______________

Phone______________________________________Email_________________________________________________

Date of Purchase____________________

Authorized KFI Dealer Name______________________________________________________________________

Fill out and send this section to:
Kappers Fabricating, Inc.
Warranty Registration Department
1015 Industrial Drive, PO Box 32
Spring Valley, MN 55975, U.S.A.



©2014 Copyright Kappers Fabricating, Inc.   All rights reserved

Kappers Fabricating, Inc.

721 Sata Dr.
Spring Valley, MN 55975

1-877-346-2050

www.kfiproducts.com


